Balancing Chemical Equations 1

1.2H2 + Oz ---> 2H20

8.

Sg+ 1202 ---> 8503
2HgO ---> 2Hg + O

Zn + 2HCI ---> ZnCl, + H»

. 4Na + 4H20 ---> 4NaOH + H;

CioH16 + 8Cly ---> 10C + 16HCI

. 4SioHs + 70, ---> 4Si0, + 6H20

4Fe + 307 ---> 2Fe203

9. 2C7HgO2+ 50,---> 14C0O2 + 6H20
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4FeS; + 1102 ---> 2Fe,03 + 8S02
Fe2Os + 3H2 --->2Fe + 3H20
2K + Brz ---> 2KBr

2CH2 + 502 --->4CO0O2 + 2H0
4H,0; ---> 2H0 + 50
C/His + 1102 --->7CO2 + 8H20
SiO2 + 4HF ---> SiFs + 2H20
2KCIOz ---> 2KCl + 30
4KClO3 ---> 3KClOs + 7KCI
P4O10 + 6H20 ---> 4H3POq4
4Sh + 302 ---> Sbh4Os

CsHs + 602 ---> 3CO:; + 4H.0
Fe:Os + 3CO ---> 2Fe +3CO:
PCls + 4H.O --->5HCI + H3PO4
8H.S + 8Cly ---> Sg+ 16HCI

3Fe + 4H,0 ---> FesOs + 4H:
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N2 + 3H: ---> 2NHs3

2N2 + Oz ---> 2N20

6CO2 + 6H.0 ---> CesH1206 + 902
SiCls + 4H>0 ---> H4SiOs4 + 4HCI
2H3PO4 ---> H4P207 + H20

CO; + 2NHz > OC(NHz)2 + H.0
2AI(OH)s + H2S0s —> Alx(SOs); + H:0
Fex(SOu)s + BKOH > 3K,S04 + 2Fe(OH)s
H2SOs4 + 8HI ---> H.S + 4l + 4H:0

2Al + 3FeO ---> AlOs + 3Fe

Na,COs; HCI ---> 2NaCl+ H,O+ CO;
Ps + 502 ---> 2P.0s
K:O + H,O ---> 2KOH

4Al1 + 302 ---> 2Al,03
2Na202; + 2H20 ---> 4NaOH + O

C + HO ---> CO + H

2H3AsOs ---> As0s5 + 3H20

Aly(SO4)3 + 3Ca(OH); ---> 2AI(OH)s3 + 3CaSOq4
FeCls + 3NHsOH ---> Fe(OH)sz + 3NH4Cl
2Ca3(PO4), + 6SiO2 ---> P4010 + 6CaSiOs
N20s + HO ---> 2HNO3

2Al + 6HCI ---> 2AICIz + 3H:
6H3BO3 ---> H4BsO1u1 + 7H20
3Mg + Nz ---> MgsN2

2NaOH + Cl2---> NaCl + NaClO + H20



